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GROUP A (New Course)

1. Answer the following questions : ‘ ‘ 11 0=10

SoTH eHPTRs Oed Rl ¢

(a) What is meant by instantiation ?

Instantiation JFIE .W?

(b) What do you understand by constructor overloading ?
Constructor overloading {%‘l’(ﬂ 5 el ?

() What is the significance of tellg() function ?
tellg() function= wiesid 2

(d) What is rheant by dynamic memory allocation B
Dynamic memory allocation Jfetes & gena e

(e) What values will the elements of an array have when it is
declared if it does not include an initializer ?

“g[e] @bl declare EIte W @6l initializer RS I 92, (oMol
SISO B et Wi 1 =92

(f) Define TOR. ‘

~ TOP et |

(99 What does the select operation select from a relation ?
: Relation @BiF #{ select operation—9 & select 2?2

(h) What is minterm ?
Minterm 2

(i) What is a switch '9
Switch 2

g) . Wihat'is| RI-45" connector: 2
. RJ-45 connector &2
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2. Answer the following questions : : 2x10=20

Wofq eRPTRY e R ¢

(@) What is meant by data Encapsulation and Abstraction 28
Data Encapsulation i< Abstractlon SEIGRR & 2

~ (b) Write the difference between call—by—valuc and call-by-reference.

Call-by-value ®% call-by-reference=< &« 2N o72)) |

(c) .How does inheritance influence the working of constructors
and destructors ?
Inheritance-9 (FV(E ConstructorW destructor—% I oleifi® S 2

(d) Write the meaning. of the file mode parameters ios::app and

. los::ate.

(9)

(h)

@

27T CSCA

File mode parameter 342 ios::app I ios::ateN o1 5 & |

Differentiate between the linear and binary search techniques.
Linear < binary search technique R2F W& #)i2<y vl |

Differentiate between Candidate Key and Primary Key in
context of RDBMS.

RDBMS- H@I%® Primary Key ®I¥ Candidate Key=< W&iq {12/ wexffa |
What is the difference between WHERE and HAVING clause ?
WHERE Sl HAVING clause= e A<y &2

Vcrify the following algebralcally :
eSO Ol wee ! A9 1 ¢
AATB B ARE

Obtain the Boolean Expfession for the logic circuit shown

below :
wetw Al logic circuitS I Boolean Expression Bfene |

—P>O
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G)

(b)

‘What is WEB 2:0 ?

WEB 2:0 &2

Rewrite the following program after removing the Syntactical

errors (if any) :

'ﬁﬁ“ﬁmimﬁﬁﬁ_”—ﬁﬁ(ﬂﬁ@mﬁﬁWﬁﬁvmﬁﬁ?ﬁ??%m°

# include [iostream.h]
class PAYNOW

{ :
int Charge;
RUBIEIE &
void Raise () {cin<<Charge;}
void Show {cout<<Charge;}
} )

void main ()

f
1

PAYNOW P;
PR Ratusei();
Show ();

bl

}

3

Answer the questions (i) and (i) after going through the

following class :

Oe9 class-(Gi fSfews (i) i< (i) MWWW

class Maths
f

{ char Topic [20];
int Weightage;
Mpublic:
Maths () - // Function 1
{ strepy (Topic, “Matrix”);
Weightage = 20;
cout<<“Topic Activated”;

U
J

~ Maths 0 // Function 2
{ cout<<“Topic Deactivated”;

{ :

S

27T CSCA (4]
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(d)

27T CSCA

() Name the specific features of class shown by Function 1
and Function 2 in the above example.

879 GNIZSE6NS Function 1 9% Function 2-¢ MYEA class-
J e ey s =i -

() How would Function 1 and Function 2 get executed ?
Function 1 ¢ Function 2 1@ FG5<1 299

Design an algorithm that will allow you to insert a data item
NAM in the ith position in a single dimensional array NAMES
having n element (i<n). 3

(i<n)n 2T GTE 4 @S &ld NAMESS i ©F 3% & data
item NAM S[@$@ G99 Qi@ @ algorithm design 4 |

Write a function i11 C++ to perform a DELETE operation in a
dynamically allocatéd queue considering the following
description : i 3

o 6]l REI6H11 5 dynamically S5 91 queue €6 DELETE <5
T FRRT A Cr+-m @51 function 72l ¢
Struct Node
{ ,
float U,V;

Node *Link;
1.

E)

class QUEUE
{

Node *Rear, *Front;
Priblick: ’

QUEUE () {Rear = NULL; Front = NULL;

void INSERT ()

void DELETE ()

~QUEUE ()

)

[5] Contd.
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Or / 7231

A line of text is read from the input terminal into a stack.
Write an algorithm to output the string in the reverse order.
' 3}

Input terminal-< "f@T sii51 =9 Bl stack «BitsT 26l (20| string-CBi
I DRG] output DI A FIE 9ol algorithm fersil |

What does union operation do ? What arc the conditions to
carry out union operation ? 1+29=8

. Union operation-9 & &= ? Union operation—< (%F4e Ff TG 51532

(g)

27T CSCA

e 2
Or/W

Write a query on the travellers table whose output.will exclude

all travellers with a rating <= 1000, unless they are located in
Sikkim. : ' ; 3

Travellers tableS €298 ¢F query Rl JCO Rl 75 _travellers=<
rating <=1000 (._Gt?*ﬂ?ﬁﬁ output-s Am = @il MR oI
Sikkim—< «37 | .

Draw logic circuit diagram for the following expression : 3
o575 WHl SIRE <1 logic circuit diagram Si |
Y=ab+bc+ca
Or / 7341

Verify the following expression using truth table. 3

Truth tablex Sfiace wom G Fore! ﬁmw|
X(Y+2)= XY +YZ

What is network topology ? . Write two advantages and two
disadvantages of Star topology. 3

Network topology &2 Star topology= gﬁﬂﬁm SIIGE ’jﬁf@?ﬂ%m forail|

(6]




Or / 724!
Write briefly about LAN, MAN and WAN.

LAN, MAN S8 WAN=< ¥ 53¢ 1l |

(h).‘What is web hosting ? Name four dlffcrent types of web

hosting. - 1+2=3
Web hosting =2 517 2<9 web hosting< /¥ %Rﬁlk
Ly ' Or / 7&l ‘ |
Writé short notes on the following : 1x3=3
oo M 53 et FRi

(i) Telnet

(i) GPRS

Q) e

Definé"a S Employee  in " C++ with the following class®
specification : ’ : ’ 4

oo WAl class RN it c++ @ BT class Employee define 3 ¢
Private members :

. name 20 characters

s subject 10 characters

. Basic, DA, HRA float

LAk salary float

'Calculate () function computes the salary and return it
salary is sum of Basic, DA and HRA

public members :

ReadData () function accepts the data' values and invoke the
Calculate () function.

DispData () function prints the data on the screen.

DN @S @A [7] j Contd.
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Consider the following declaration and answer the questions given
4
below : . : i { A

1o 3l class-(Bl REbAI SR OoF 2xPmza Sed W3l 2

class AAA

{

int H;

protected :

Hani (S5

public :

void INPUT (int);

void OUT (); -

I

class BBB private AAA

f
1

it 10

protected :

Tt ' y
- public : void INDATA (int, int);
void OUTDATA ()
1 |
class CCC : public BBB

f
1

int M;

public :

void DISP (void)
b

2

2

(i) ~Name the base class and derived class of the class BBB.

class BBBS base clags ®is derived class= IS o)1 |

27T CSCA (8]



(i) Name the data member(s) that can be accessed from function
DISP().. ‘

DISP() function< #&l access Fi<< 4l data member (CTIR)—< <
IR
(iij) Name the member function(s), which can be accessed from the
objects of class CCC.
Class CCCH object AY2S #{l access S99 #[l member function
(F1R)= S o1l | - i
(iv) Is the member function OUT () accessible by the objects of the -
class BBB ? :

Class BBB-S object 28 @I member function OUT ()
accessible 2 ?

‘What is a copy constructor ? Discuss the various situations when'
. a copy constructor is automatically invoked. e lse =

’Copy constructor &2 Copy constructor b TS I@ invoke 3% &

ﬁﬁmwﬁwwmwwl
Or/ﬂf??ﬂ’

Write a program in C++ to prmt the factorial of a g1ven number
using a constructor. g

Constructor IR N TR foral ) WO factorial SRR RS
I @0l e fermil|

What is a stream ? Name the streams generally used for file I/0.
4

Stream 2 file I/O-= i FUCICS TS stream eI s &1
or / 4l

Write a function in C++ to count the number of lowercase
alphabets present in a text file “BOOK.TXT”. 4

Text file “BOOK.TXT”-® 2| lowercase alphabet 2. count FNE A
@Bl C++ function &l |

27T CSCA : (9] Contd.



7. Write a function in C++ to find the sum of diagonal elements from
a two dimensional array of type float. Use the array and its size as
parameters with float as its return type. <

@i float type *j&le WO diagonal GIE TR (9IS CHRIKCET C++5 b
function &7l | J&FTCH! =< 2TF size parameter RBIE IR FI O 7 ‘f‘?it—
2N return type float 9 & |

Or/‘_ﬁ'??f

Write a program in C++ to implement Binary Search algorlthm for
N numbers stored in an array. g

N-GI R4 7267 02 5l B GRtDIC Binary Search @i <92 R0 A6
C++ leals forail |

27T CSCA | (10]



GROUP B (Old Course)

8. Aﬁswer the following questions : _ 1x10=10

ICEER O PES OSBRI

(@

(b)

(c)

(d)

(e

(9)
(h)
(i)

0

27T CSCA

What is identifier ? AT

" Identifier 2

What do you mean by function ?

5 Jfeteet 6 g

What are the two ways for passing an object to a function ?

& 75] BAIGIE object ¢l function-(a1 210R iif¥ 2

Write any two types of Computer Network.
S2ITOI (RO Ryt 75] SFRa I o7t |

What is class ?
Class ¢

Explain scope resolution operator (::) in C++.

C++- scope resolution operator (::)= e i <10 |

What do you mean by -trayersal of an array ?

“&leT GI9 traversal et 6 IS ?

Define Bridge.
Bridge & Jeefi«i|

What is Computer Network ?
Computer Network &5 ?

Explain Bandwidth.
Bandwidth-= f{zez <y 341 |

[11] Contd.



9. Explain the following quéstions ! 2x10=20
oo TR R ‘

(@

(b)

(c)
(d)

(e)

(9)

2T TOECA

How while loop is different from do ... while loop ?
While loop 9Bi§ do ... while loop=< &9f® AL 52

Find the error(s) in the followmg program :

O G B (FTR) REIR SR ¢

include <iostrem.h>
void main

i1
X

X =120

cout <<“X=">>X;
v
J

How does a member function dlffCI‘ from an ordinary
function ? i
Member function @bl JYFE function 9GO & oI 52

What is the difference between public and private members of
a class?

Class ¢bl§ public Sli% private member% s A< 52

. How does 1nher1tance influence the working of constructor

and destructors ?

Inheritance-9 constructor ®I% destructor3d SRS IS 2ol
R GIRE

How does a der1ved class can get access pr1V11f=1ge for a private
member of the base class ?

Derived class @bi% base class-(0i9 private member oI e
access—< ReifasH FECE 2] “AE?

- State two conditions under which Binary Search 1s applicable.

Binary Search @@ g SIFIF (@[ T 707 74|
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(h)

()

0)

Given a stack as an array of 7 | elements, STACK
ME@UTEE S i GaniMEbeldelctedibefonedil PiGve neasomns!

7 Bl SN *&fe f2bieet Bl stack, STACK : M QT _, _, _, .
T AT M T T-9 Seice @R[ FE 21 2 Si=e) wedii |

What is hub ? Name the types of hub.
Hub F? Hub=< dSRER &l

Write two advantages of STAR topology.

STAR topology= 701 &l Tl |

10.: (a)

(b)

(c)

(d)

(e)

27T CSEA

Draw a flowchart to read a number and find the sum of the

cligitsh it ‘ 3
LA Lﬂfﬁ_ AbsT FRAIEE T @20] (@9 IR O o[z ba S |

What is a structure ? How is structure different from array ?
Write a structure specification that includes three variables all
of type int, called hrs, mins and secs. Call this structure time.

‘ 5 \ 3
Structure 5 ? ¥g GBiF #191© structure AL 52 int type foFo]
55 hrs, mins S secs 999€ I8 time TR structures e
AR o =i | |

Write a program in C++ to:input a number through the
keyboard and then to reverse the number and to print it.
3

Keyboard-= &fRacs ey @t AT JRATB! S5 SR 2ol SR A
C++-5 ¢bi 22y &7l |

Give an algorithm for the insertion operation in a queue
implemented as an array. : 3
<elel f=2biel e queue @Ol insertion operation ¥ ANE 96l
algorithm fe72yy|

What is inheritance ? What are the ‘various types of
inheritance in C++ ? B

Inheritance 2 Cc++3 &7 5T inheritance g o e

[13] { Contd.



(f) Write some characteristics of Destructor. )
Destructor< (Fo@R ERBR [ ot

(g) Write a function in C++ to merge the contents of fwo sorted
arrays A and B into third array C. Assuming Array A and B
are sorted in ascending order and the resultant array C is also
required to be in ascending order. 3

A SIS B *[Eel b Saae WWWW@H&H Go {
@WEWWW C++-% @bl function ﬁ‘f?” :

(h) Explain in brief about three'advantages of E-mail. 3

E-mail-5 /o6 FfRal 53t <o <1 |

11.. Define a class to represent a STUDENT with the following
members. 4

e 1 member YL (o STUDENT-S S LﬂﬁT class ﬁ'”f?ﬁ WI

private members of class STUDENT

roll no, name, marks of MIL, English, Physms Chemistry, Maths
total (use suitable data type).

public. members of class STUDENT
readdata () : to read initial value
calculate () : to calculate total marks
disp () : to display information.

12. Write a program in C++ to print the area of a rcctangle with given
length and breadth using a constructor. 4

WWJ?WW@WW&WWWEWWCH%
constructor IR FfF @5y e forall |

13. Write a function “in C++ to perform Insert operation in a
dynamically allocated Queue containing names of students. 4

BES JI AFTS sifone OTENS By €l Queue 9o Insert opcrauon I
TG FEE AN Cht ® 9Bl function i |

2GS CA [14]



Or / 731

Write a program in C++ to implement Binary Search algorithm for
N numbers stored in an array. _ 4

N-51 =2l 7267 02 A %2 @6 Binary Search e IR SR <6l
C++ ‘eftal™ Teril|

14. Describe the three basic types of cables. | it
ol %<9 TE cable< R <A 1|
or / 7

Write abou.t‘ any four services available in the internet. 4

STEELS TR ﬁmwﬁﬁamﬁﬁm%{w
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